Quesﬁoh Paper Version : A

Commumcatlve English
| [Max Marks: 50

IVSTRUCTIONS TO THE CAVDIDATES

1. Answer all the fifty question_s, each question carries one mark.

2. Use only Black ball poigitfpeﬁ for writing / darkenijnglthe circles.

corresponding to vi:hérisame question number on the OMR sheet.

4. Darkening two c;rules for the same questlon ‘makes the answer invalid.
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For each quesﬁon,ﬁaft,e?‘ electing your answer, darken the appropriate circle

Damagmgloyerwrltmg, using wln‘:‘ners on the OMR sheets are strictly

a) Commumcm ¢) Comm ticative dj None of these

b) Comm}}n'a

Communication is a ___process.
a} one way b) two- way c) three way

In order to achieve the ‘production target” foi: a particular month, the discussion held
between the productlon manager and supS?ymanager will ccrta{nly be a perfect instance
of Commﬁmcanon

a) Vertical - ‘ b) Spiral 3 c) Cross wxses . d) Horizontal

‘Poor Prmtmg it is a type of Bam T
a) Verbalbarrier :
¢) Physiological barrier. .

b) Psyéﬁological barrier
d) .Physical barrier

“‘Tra‘n’scendental meditat‘iérn‘ is example of_“ " Communication.
a‘) Extrapersonal b) Interpersonal "= .‘c) Intrapersonal d) Non - verbal

l"he most stmght forward, basxo mterpersonal communication meaning is
Commumcatlora. o

a) Mass Commumcatlon
c) Extrdpersonal

b) Interpersonal
d) None of these

Flashing eyes, avoxdmg eye contact may also cause
a) Vernal barrier
c) Psychologlcal bamer

to effective Communication.
b) Listening barrier
d) Non - Verbal barrier

In general oral Commumcatxon is the interchange of

receiver.

a) cuesandclues b) speaking c) gestures
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between the sender and the

d) verbal messages
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‘Follows a set pattern such as sequence of elements ‘in,a report’ this is
Communication. 5

a) Professional b) General c) Perqonal d) None of these

In Organizations, informal communication also pe.rmeates This informal communication
is called

a) Personal b) Professional c) Grapevine

d) None of thee

One native regional accent that has gamed somal prestige is the " _of English.
a) Received pronunciation - b) Reverse perception -
¢} Transcription d) None of these ;

A vowel sound whose quahty e
called @
a) Vowel b) Dlphthong c) Pure vovfel d) Consonant

s not change over the duratlon of the vowel is

The consonant sounds that ‘come before vowel sound are called

a) Coda b) Onset c) Medlcal d) None of these

What is the division of syllables of word fInfqrrnation’?
a) in-form-atiop -~ b) inform-ation . ¢} in-formation d) in ~ for - ma - tion

Transcribe the’ word ‘daughter’.
a) /'dO tG/ b) /dO'toY c) /d:trt

d) /d3:t9/

‘No. Tbe wormen with_the plas (ag’. In this sente
tone?

a) No, The woman b) ~k1’§a§tic bag

¢ which words are having falling

'id) | None of these

Find the silent letter mthe word ‘thoug :
a) th “+ b) ou

In the word Shm often nuspronoung
a)y /f/ by /S/

Correct the Spelling of the following word - .
a) Rehumeration b) REmﬁneration ¢) Remunation d) Remuration

{How to pronounce the word ‘Next’?

"~ a) nekast » b) nekest “uc)  pekist d) nekst
I have to buv a car. (Use appropnatc noun)
a) no rupees b) no noges €) no money d) no moneys
and want to purchase a yacht. (fill with suitable pronoun).

a) He.landyou b) You, heandI ¢) 1, he and you d) You,Iandhe

The flower smells “(Appropriate Adjective is)

a) sweet . b) sweetly c) sweeter d) sweetest
Itis hottef. today, (place an adverb).
a) most b) very ¢} more d) much
Ver A-2of4
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Hardly had he arrived ______ the portico crumbled. (Choose correct conjunction)
a) than b) then ¢) when d) None of these

We could barely do anything. (suitable question Tag).
a) Couldn’twe? b) Could we? c) Canwe? d) None of these
A Person who believes in God, we call him

a) Theist b) Atheist ©). Eccentric d)- Spinster

‘I saw a man’ in this sentence which is pronounced with a weak verb?’wi‘thout any special
emphasis. '

a) 1 b) man ; ¢ c) saw d) a

Flour is made wheat. (swtablc preposition)

c) from ) d) in

a) of
L 'danger (Choose the correct eptlon)
a) A

j c) The d) Not needed any article
Fill in the banks with appropriate prefixe

The army people attacked the enemy.;

a) in- 4 b) Inter ¢) Counter d) Un
My res&éréh‘Supervisor is 3 "}txcal about everythi

a) hyper b) un - ¢) mono d) intra
Choose the pairs of word / phrases :

Archive : Document
a) Warehouse : merchandise
¢} Theater : Plays

Library : Shelves+
' Cinema : P;"get,or

Coal : Mineral,™ Y

a) Oxygen Water b) river : dapt: ) golcl metal

Choose the correct subject - Verb concord in the sentences :

d) silver : mine

Dxabetes 4 asilent killer, ¢
a) s . are d) None of these
The Jury gave

“..a) their d) None of these

37.

38.

Complete th giﬁtence with apprﬁffﬁate tense from :

Sir,1__“passed my B.Tech in2003
a) have b) has c) was d) Not required
We finished our dsmgnmem just now.
a) “have by has ¢) had d) None of these
Choose the correct.option CMRIT LIBR ARY

was visible at this late hour. BRANGALORE - 560 037
a) No man. b) No ¢) No men d) None of these
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'-) 3 hrs, 25 min <b) 2 hr, 55 min
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The tycoon had expired before the
a) Physician arrives

b) Physician arriving
¢) Physician arrived

d) Physician had arrived

When _ , I will tell him everything.

a) he is coming b) he comes d) None of the above

¢) hewill come
Which of these must be avoided in Presentation?” :

a) Proper grammar b) Complex words “¢) Short sentence d)* Clear voice

Which of these can be used to break the mono(ony ina speech‘?

a) Humour b) Constant, tone ¢) Low voice © d) Sad story

Mother tongue influence can be, cifectlvely minimized in the .
a) using the mother tongueg'more often  b) giving examples from the mother tongue
c) gwmg a lot of exposure, inthe target language ..

d) giving inputs from | target language in a sm)ple graded manner.

The art of clear and concise manner of speakmg,
called L uF
a) Elocutlon <

with clarity of meaning and thought

N b) Latency c) Extempore

d) Story telling

Read Comprehensmn : Read the passage carefully and select the suitable answer
from the given options :
Qﬁite"ﬁr’ecently India laid the™

fmmdatlon stone for.one of its most sought — after
projects tunning a Bullet Train: It

Sidered as a dream project of the
Honorable Prime Minister. Entu—e India felt proud ,}xavmg its first.ever bullet train
scheduled to run betw umbai and Ahmeglab, "a distance .of 508 km in about
2 hours 35 minutes. In his own words, “To grow, one needs o expzmd one’s dreams and
decide one’s strength t0+ achieve that. It’s the New India which has to fly high”. “Bullet
Train is a project that'will provide paces £6.development. Along with new technology, it
will also bring fesults faster”, he added: According to/Achal Khare, the Managing
Director of th Naiional High spe le Corporation, the project would be completed by
December 200§ o T

The for the Bullet Tram pro Ject was laid recently
a) raxlway track b)) aling system c) foundatnon stone d) None of these

The bullet train will take about to run, bet_ween both the States.

" &) 2hr, 35 min d) None of these

)Accordmg to ane Mmlster the two: benefits that the bullet train will bring are to

provide paceto -~ to faster -
a) travel, trains
c) development trains

b) train, travel, results
d) development, results

The bullet train schedule t0 zun between and
a) Mumbaiand Ahmedabad
¢) Mumbaiand Gujarat

d) None of these

The project is expected to be __
a) completed.

by December 2023.

b) operationalised c¢) started d) None of these

* kK kK
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b) Mumbai and Delh 1BRARY
umbai and De CMR;TL e -




